	Basic Probability
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	Expand
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     where r is the rth term. If b is negative, then if r-1 is odd, then the expanded term is positive. 

Rem: 
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Approximation
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	Discrete (non-continuous) random variable
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	Hypergeometric
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	Binomial probability
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Binomial Versus Hypergeometric

· 
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·  if p is not given, or N is very large it follows that 
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· Binomial and Hypergeometric are discrete.

· Binomial can be used to approximate Hypergeometric if n is very small. 
	Normal distribution
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	Watch outs

· is Pr < or >

· Look at Domain and range
· When differentiating is there two terms, if so use product or quotient rule.

· When differentiating is there (something)n , if so use chain rule

· Remember the difference between variance, standard deviation and mean. 
· Check degree or radian
· 
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, remember to check whether it’s +/-

	Exponential growth and decay
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· Where, 
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y

is the initial y value

· For k>0, growth,

· For k<0, decay
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· no k value

· a represents the growth factor, if a>1 growth, if a< 1, decay

· 
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	Graphing

· dilation of k parallel to the y axis = dilation of k away from the x axis.

· Dilation of 
[image: image18.wmf]k
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 parallel to the x axis = dilation of 
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 from the y axis.

Trigonometry
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